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o @ F-KR
@ 4x+5x @ 2x-9x
=9x =-7x
@ 4x+2+2x-7 @ 7x-2-3x+4
=4x+2x+2-7 =7x-3x-2+4
=6x-5 =4x+2
® 7xx(-6) ® (-24x)+ (4,
=—42x =6x
@ 6@x+3) @7x-15)+(-3)
=12x+18 =9x+5

£ # @ F-KZ
@ 5x-4x @ -3x-4x
=z =-7x
@ 4x-1+52-3 @ 11x-3-5x+7
=4x+5x-1-3 =1lx-5x-3+7
=9x-4 =6x+4
® (-8x) x (-6, ® -36x+6
=48z =—6x
@ -5(4x-23) (32x+8) + (4,
=-20x+15 =-8x-2

© (Bx-3)-8x-5

=5x-3-8x+5
=5x-8x-3+5
=-3x+2

5-2)+3@x-3

=5x—-10+6x-9
=5x+6x-10-9
=11x-19

@ 9x-5)+@x-4

42x-3)-3(x -2
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=9x-5+2x—4 =8x-12-3x+6
=9x+2x-5-4 =8x-3x-12+6
=11x-9 =5x-6
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@ 11x+8x @ -7x+2x
=19 =-bx
@ 9x+5+3x-7 @ 3x-1-8x-6
=9x+3x+5-7 =3x-8x-1-6
=12x-2 ==bx-7
® (-6x)x (-9 ® 32x+(—4)
=54x =-8x
@ -7(3x+5) (42x-6)+6
=2lx-15 =7x-1

o M HF-KZ
® 15x-8x @ -3x-5x
=7x =-8x
@ 8x+1-5x+4 @ 6x-4+5x+10
=8x-5x+1+4 =6x+5x-4+10
=3x+5 =1Ix+6
® IIxx(-3) ® (482)+ (-8
=-33x =6x
@ 3(9x-2) (30x+5) + (=5,
=27x-6 =—-6bx—-1

© 9x+4)-(5x-3

=9x+4-5x+3
=9x-b5x+4+3
=4x+7

4(2x-1)+3@2x -1

=8x-4+6x-3
=8x+6x-4-3
=14x-7

© (x-5)+@x-3

7(3x=2)-5@2x~1)
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=4x-5+x-3 =2Ilx-14-10x+5
=4x+x-5-3 =2]x-10x-14+5
=5x-8 =1I1x-9
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@ 7x+5x @ 3x—-8x
=12x =-5x
@ 5x+3+2x-9 @ 11x-3-4x+5
=b5x+2x+3-9 =1lx-4x-3+5
=7x—-6 =7x+2
® 8xx(~4) ® (-54x) + (-6)
=-32x =9x
@ 53x+4) (28x-21) = (-7)
=15x+20 =—4x+3

@ (10x+4) - (6x-3)

4(x-3)+3Cx-1)

o M HF-KZ
@ 9x-5x @ -6x-3x
=4x =-9x
@ 8x-3+2x-4 @ 122-5-7x+2
=8x+2x-3-4 =12x-7x-5+2
=10x-7 =5x-3
® (-9%)x(-3) ® -56x+8
=27x =-7x
@ -3(7x-4) (45x+18) + (-9)
=2Ix+12 =552

=10x+4-6x+3 =4x-12+6x-3
=10x—-6x+4+3 =4x+6x-12-3
=4x+7 =10x-15
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@ (7x-3)+(bx+2)

=7x-3+bx+2
=7x+b5x—-3+2
=12x-1

3dx-1)-2(3x+2)

=12x-3-6x—-4
=12x-6x-3-4
=6x—-7
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® 9x+7x @ -5x+2x
=16x =-3x
Q bx+3+4x-7 @ 2x-3-6x+8
=5x+4x+3-7 =2x—-6x-3+8
=94 =—4x+5
® (-7x)x (-4) ® 48x+(-8)
=28 =-6x
@ -8(7x+3) (20x—4) -4
= -56x-24 =bx-1

o M HF-KZ
@ 11x-8x @ -7x-3x
=3x =-10x
@ 6x+3-2x+4 @ 8x-5+3x-2
=6xr-2x+3+4 =8x+3x-5-2
=4x+7 =1lx-7
® 9xx(-8) ® (-27x) = (-3)
=-72x =9
@ 6(7x-4) (64x+8) = (=8)
=42x-24 =-8x-1

© (Ix+6)-(5x-3)

=1lx+6-5x+3
=1lx-5x+6+3
=6x+9

4Bx—1)+3(x+2)

=12x-4+3x+6
=12x+3x—-4+6
=15x+2

@ (bx-4)+Bx-2)

7@x-1)-5(x+2)
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=bx-4+3x-2 =14x-7-5x—-10
=bx+3x-4-2 =14x-5x-7-10
=8x-6 =9x-17
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@ 4x+x

=5x

@ 8x-11x

@ S8x+5+4x-7

@ 9x—-4-6x+11

=8x+4x+5-7 =9x-6x—-4+11
=12x-2 =3x+7
® 7xx(-4) ® (-24x)+(=3)
=-28x =8x
@ 4(4x+3) (56x-16) = (-8)
=16x+12 =-7x+2

g #H E-KH
@ 13x-4x @ -6x-3x
=9z =-9x
@ 5x-2+4x-3 @ 3x-5-7x+6
=b5x+4x-2-3 =3x-7x-5+6
=9x-5 =—4x+1
® (92)x(-7) ® -18x+6
=63z =-3z
@D -68x-3) (40x +5) = (=5)
=482 +18 =—8r-1

© (7x-8)-(12x-3)

=7x-8-12x+3
=7x-12x-8+3
=-5x-5

5@2x-1)+33x-2)

=10x-5+9x-6
=10x+9x-5-6
=19x-11

@ (6x-3)+(5x—4)

4(3x-2)-3@3x-1)
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=6x—-3+5x—4 =12x-8-9x+3
=6x+5x—-3-4 =12x-9x-8+3
=11x-7 =3x-5
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@ 13x+9x @ -8x+3x
=22x =-5x
@ 8x+3+7x-9 @ 4x-2-7x-5
=8x+7x+3-9 =4x-7x-2-5
=15x-7 =-3x-7
® (-7x)x(-8) ® 18x+(-6)
=561 =-3x
@ —4(5x+2) (24x-8)+8
=20x-8 =3zx-1

=
@ 122-9x @ —4x-3x
=3z =-7x
@ 9x+2-3x+5 @ 8x-3+5x+7
=9x-3x+2+5 =8x+5x-3+7
=6x+7 =13x+4
® 9xx(-8) ® (422)+(-7)
=-72x =6x
@ 6(9x-4) (28x+4) = (—4)
=54x-24 =—7r-1

© (I2x+5)-(4x-3)

=12x+5-4x+3
=12x—4x+5+3
=8x+8

4@3x-1)+3(x-2)

=12x-4+3x-6
=12x+3x-4-6
=15x-10

© (7x-5)+Bx-4)

6(3x-1)-5@2x-3)
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=7x-5+3x—4 =18x-6-10x+15
=7x+3x-5-4 =18x—-10x-6+15
=10x-9 =8x+9
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